



姓名: _____

日期: _____ 分數: _____

$8^2 - 8 =$

$2^{(-1)} - 4 =$

$(-8)^0 + (-8) =$

$9^{(-1)} - 2 =$

$(-3)^{(-2)} + (-1) =$

$(-10)^{(-1)} - (-10) =$

$4^2 + 3 =$

$(-5)^0 - 10 =$

$(-3)^{(-2)} + 1 =$

$(-5)^{(-1)} - (-6) =$

$(-8)^0 + (-5) =$

$(-2)^0 + (-3) =$

$2^{(-1)} - (-3) =$

$(-4)^{(-1)} + (-10) =$

$2^{(-1)} - (-6) =$

$10^0 + 2 =$

$2^{(-2)} + (-2) =$

$(-10)^{(-2)} - 2 =$

$(-6)^2 - (-2) =$

$(-5)^{(-1)} - 9 =$



姓名: _____

日期: _____ 分數: _____

$$8^2 - 8 = 56$$

$$2^{(-1)} - 4 = \left(-\frac{7}{2}\right) = \left(-3\frac{1}{2}\right)$$

$$(-8)^0 + (-8) = (-7)$$

$$9^{(-1)} - 2 = \left(-\frac{17}{9}\right) = \left(-1\frac{8}{9}\right)$$

$$(-3)^{(-2)} + (-1) = \left(-\frac{8}{9}\right)$$

$$(-10)^{(-1)} - (-10) = \frac{99}{10} = 9\frac{9}{10}$$

$$4^2 + 3 = 19$$

$$(-5)^0 - 10 = (-9)$$

$$(-3)^{(-2)} + 1 = \frac{10}{9} = 1\frac{1}{9}$$

$$(-5)^{(-1)} - (-6) = \frac{29}{5} = 5\frac{4}{5}$$

$$(-8)^0 + (-5) = (-4)$$

$$(-2)^0 + (-3) = (-2)$$

$$2^{(-1)} - (-3) = \frac{7}{2} = 3\frac{1}{2}$$

$$(-4)^{(-1)} + (-10) = \left(-\frac{41}{4}\right) = \left(-10\frac{1}{4}\right)$$

$$2^{(-1)} - (-6) = \frac{13}{2} = 6\frac{1}{2}$$

$$10^0 + 2 = 3$$

$$2^{(-2)} + (-2) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$(-10)^{(-2)} - 2 = \left(-\frac{199}{100}\right) = \left(-1\frac{99}{100}\right)$$

$$(-6)^2 - (-2) = 38$$

$$(-5)^{(-1)} - 9 = \left(-\frac{46}{5}\right) = \left(-9\frac{1}{5}\right)$$